ALL I NEED TO GO WITH THIS IS A TREND LINE SLOPE  THIS IS MY 3RD REQUEST.
On March 1st the stock price was: $28.41 (Pi)

On April 1st the stock price was: $28.91 (Pf)

The slope is defined as:


[image: image1.wmf]month

month

t

P

P

m

i

f

$

5

.

0

1

41

.

28

91

.

28

=

-

=

D

-

=


The trend predicts that the stock price will increase 0.5 dollars every month.

Therefore we expect the stock price on the first day of trading in May to be:
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On May 3rd (The first trading day in May) the price was $27.76 which was below the predicted price.

In general, one can say that the trend predicts a behavior like:
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Where PMarch is the price on March 1st and n is the number of months after March (for example for May n=2)

So for June (n=3) the prediction is:
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While the actual price was $26.47
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